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Subject Code : C2. ®

B19-GM
( EN/AS/BN/BD/HN )

2019
GENERAL MATHEMATICS

Full Marks : 90
' Pass Marks : 27

Time : 3 hours

Candidates shall note that each question will be multilingual,
viz., in English/Assamese/Bengali/ Bodo/ Hindi medium,
for their ready reference. In case of any discrepancy or
confusion in the medium/ version, the English version
will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.

Take nt = 2—72-, wherever necessary.
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- Choose the correct answer :

9% EI0] AR Bl

% Sedll (R e :

03 Riverrerch e’ R

1. Which one of the following ig g non-terminating repeating

decimal? ' . 1
o (T AR CWSW i 7
fAare @R feald Cﬁﬁ:’lﬁiﬁ Tr"‘lﬁﬁ ?
ety T Saerf, SR
Tt # & - sraT et <smerm wow 27

3 7 64 124
a) — — —_— d) —
@ 3 ® 3o 285 @ &35
2. The product of the zeros of x? -15 is 1

x? ~153 XFIRR R e

x? ~ 1547 FIERR AR gl

x? —15 T wifira"erf arsTETRET e

x? —15 % Y F PAG 8

(@ -15 (b) 15 € V15 d -15

3. Consider the following pairs of linear equations :
(i) 3x+2y=95; 2x+3y=35

(i) 2x-3y=7;,2x-3y=8
Choose the correct alternative. 1

(a) The pairs in (i) and (i) are consistent.

. (b) The pairs in (i) and (fi) are inconsistent.
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(c) The pair in (i) is inconsistent, whereas the pair in (ii) is
consistent. '

(d) The pair in (i) is consistent, whereas the pair in (ii) is
inconsistent.

T (AT SRR (RG0! R 3
(i) 3x+2y=5;2x+3y=5
(i) 2x-3y=7,2x-3y=8
% R AR SRred |
(@) ()9 (i) T EREEAR R0 |
(b) (i) TF (i) I ARCIIAR SRS |
(¢) ()3 R SPRoTS, FRRE (i) I RTH ot |
(d) (i)I QRCHT erS, i@ (1) I QRS wpieers |
o taRe AR et R w2
() 3x+2y=5;2x+3y=5
(i) 2x-3y=7,2x-3y=8
¥ e @ e |
(@) (i) 93 (ii)-93 TG W97 |
(b) (i) GR (ii)-97 (RIS TR |
(c) (i)-97 CETeID SPReS, RR7 (i)-<7 el s |
(d) ()97 cSTeI SkerS, R (1i)-97 (oI wPRe |
TR TR FEHER 5 T T
(i) 3x+2y=52x+3y=5 "
(i) 2x-3y=7;2x-3y=8
e e T g |
o T (@ () @)F T S
) ) )R e Ere
(c) ()T T W, e (i) & 5" el
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(i) 3x+2y =5; 2x+3y =5
(n) 25— 3y=7;2x-3y=8
T e

- (@) (i) 3R (i) AT gW G B
(b) (i) 3R (i) A T T ¥

4 (c) () g I & T (ii) 1 g G B
E (d) (i) FH W R T (i) g s R
4. The 30th term of the AP 10, 7, 4, ... is 1
10, 7, 4, ... RS SR 30T e 24
10, 7, 4, ... 5@ 25 30wy omfb ==
10, 7, 4, ... rTir SR 30f R ST
10, 7, 4, ... GHIR 3 =1 3041 92 B
(@) -67 (b) -177 () -87 @ -97

5. Let ABC be a triangle such that AB=6V3 cm, AC=12 cm

and BC =6 cm. Angle B is 1
ABC fa9%@ AB =6V3 cm, AC =12 cm 9% BC =6 c¢m. B (JIH!

| | |

ABC fagres AB=6V3 cm, AC =12 cm ¢ BC =6 cm. B @i
ABC ¥Ei=mH AB =6V3 cm, AC=12 cm 3R BC =6 cm.
B @91 SE™
ABC Bys % AB=6V3cm, AC=12 cm 3R BC-= 6cmif

A IV B T AE B A 4
\ % _ {ﬂ) ]_29° (b) 90° ‘1.1 {c) 60° ’ (d) 45° :
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o igs(b). coté—ﬁﬁmﬂﬁ#ﬂ 1 (V03 L

6. The dlstance between the points (0, 0) and (-8, 6) is 1

(0, 0) % (-8, 6) R TR TR 71y 2

(0, 0) =k (-8, 6) ™ T T 7% =g

(0, 0) 3T (-8, 6) ol A TRF ez e

A firgadt (0, 0) 3R (-8, 6) FAEHrgh 2

(@) 10 (b) 8 | ) 6 (d) ' 2

%7  Which of the following is true? : 1.

(@) The value of tan A is always less than 1.

(b) The value of cotA is always greater than 1.
(c) sin6 =% for some angle 6.

(d) -secb = 1—5‘? for some angle 6.

TE (D] T ?

(@) tan AR T WRE 1S7S0E 3 |

(b) cot)ﬂ T TR 1S(e0F ©Ied |

(©) @I @ ea'q'lzasine=§
(d) A G 6T WA sech =2
Rare @Fb 7o 2

(@) tan A-aq T A 1 (A (B |
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tan AR 7T s 1 e ciec TR

(bj 'cotAﬁmma‘l 1 fgs Ty

(c) e @ 0 v sin@ =5, '
(@) e o e seco = 12,
Frafafaa & | @F-w v ?7

(a)' tan A %1 AF Hed 1 ¥ &1 81 2)
(b) cotATH AH. G 1 | &1 8w B

(o) WW&%%Qsin(B:%EﬁﬁT%l

(d) Tt or © % g secd = 22 R

The angle of elevation of the top of a tower from a point on
the ground, which is 15 m away from the foot of the tower,

is 60°. The height of the tower is

BT T AMRTE [T 15 m STeTe $ie 4 b1 R o[1 B[ MHa Tow

@1 60° T T Tl T

B T Y (W 15 m A $fice a1 @@ R (e Tefba Moda

@éﬂmqewmwmm

R gErfy R FRREE 15 m SHuEaE e aEE A e

Zrar ST @ T 60° SRS TERR sherar S

et 3 T forg & S AR F Te-Rg ¥ 15 mE R, W%ﬁmmm
a?m60°%|rﬂ=mﬁ?nﬁ1€€ﬂﬂ G
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9. A circle can have _ paralle] tangent(s) at the most. 1
b1 J&q |/ AR T AR =opfes Qi #(1eq |

@3l gean @ @ 6 TR =opfes et o |

TR SEE SiteamE & T wife gt am g

T 9 A e QA Al Yt @ wewd §)

(@ 1 () 2 () 3 (d) 4

10. The degree measure of the angle at the centre of a circle is 1.
The area of the sector is 1

99 (FUS (IITER RAMA 1, TSR w1 '

eq @ew (@efba A 1, Jeoiba wife g

A fireame @mfs A @ T 5 'arn 1, S sasia s

T g9 F 5 % w0 H AR 1 Tl F, < 3ok B @ g g
nr? _' nr2 nr2

2 nr ok S o+ A
@ ® 75 © Tgo - @ 350

- ~where r is the radius of the circle.
e 3% e TP |
I r 2CE gaibg IpTY |
S 7 31 ST SEA @ EH|
el r 99 it e B
11. The volume of a sphere is 2887w cm®. The radius of the

sphere is 1
. 4Bl (T SRS 288 7 cm. (IR P T

| --uﬁﬁs O T 2887 cm3. T AETd ZgE
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14.

SECTION—B / ¥—iI¥l / 4—} / @—<Ter /| T—9rT

Find the HCF of 96 and 404 by the prime factorization method.
Hence, find their LCM. ' 2

cﬁﬁﬁt&ﬂwﬁﬂqﬁf‘@%wmwﬂm . Tfeed | TR o[l
ﬁﬂam@%f%mn

e SeAmRIFI "Iﬁfl‘iﬁﬂ 96 ¢ 404-¢q 9. . B. @ @I
G (ACE O 1. . 8. (@3 A |

a1 FEeEiR i smeest 96 I 404 T 2. 3. . ﬁgﬂiaﬁmﬁt
SERM g. o, @ gl

m@gm@zﬁiﬁm%aﬂt404mﬂwmﬁﬁmamﬁam
LCM 71d Sife|

Half the perimeter of a rectangular garden, whose length is

‘4 m more than its width, is 36 m. Find the dimensions of

the garden. 2

«aﬂmmﬁmmﬁﬂ4 m@ﬁl'ﬁﬂﬁ"iﬁﬁﬁﬁﬂﬂSﬁ_
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T A”'irrftﬁfﬁé‘ﬂaﬂmﬁqw m i1 3 DR Ry

3 mﬁmssm Aot TR TS ) g

R, SR G e § 4 mosfs 2, @ s
36m%|amﬁwﬂmﬂm#ﬁm

The 11th term ofan AP is 38 and the 151;11 term is 73. Find the .

15.
common difference. 2
9Bl ST Zioifeq 111’('«'63138?&'1@ 169 #b1 73. YR S@q ey
41 1
a6 STET 2iefeq 1199 M 38 «xx 16wy oM 73. TR o ey
BIGIR
A8 gEgl S 11 1 femr 38 s 16 f R 73, s
FRETE gl
TRt TR At @1 1157 92 38 & 91 16af W 73 2, @ 36w 9 i
(common difference) a1 gIm? j

16. Find the point on the x-axis which is equidistant from
(2: '—5) and (_2: 9)' . 2
(2, =5) W (-2, 9) Y R R TEGS x-S T 33T K1 fefy
341 |

C (2, -5) @R (2, 9) R D (R0 VY x-SR oA ARl Rl e

(2, -5) T (-2, o) ek AT o T R i T
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17. If sinA= g, calculate cosA and cotA. (A is an acute angle)

2
Ift sin A = % cos A W% cot A fey 47 | (A GBI STECFI)
1fi sin A —% cos A &3z cot A e 31 | (A w3lb STHRCII)
JR sinA = —, cos A 3R cot A @ Rgq) (A 31 W& @' @)
I 31nA='-— ?[ o cosA 3R COtA & WH qReRfeTd @f&ml (A
T §)
18. Evaluate/TW fef <1/ fefa w1/ feg/am frafere 2
: sin 30°+ tan 45°~cosec 60°
sec30°+ cos60°+ cot45°

19. If tan2A= cot(A-18°%), whcre 2A is an acute angle, find the
' value of A. 8 2

i tan24 = cot(A - 18°),A‘<Wﬁ°fﬂWI2A4?TTI*ﬂW°H
txﬁtanzA:cot(A—mﬂ,@-ﬂwﬁcfﬂm12Awﬁ:wwn ’
IR tan2A = cot(A -18°), AT 9 fig1 2A 31 7@ @' @'

I tan 2A = cot (A —18°), aﬁquaa?@@w%,?h AF HH T ik |

20. Prove that/2¥1 I (/294 I @ /M G /R, Fifemg e
cosA 1 +sinA

l1+sinA cosA Dk
A is an acute angle. 1 2
A &1 ST |
A 30 SPHRI |
A 3 AR @' @l
A T T R
B19-GM/21B

[ Contd.
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21. A bag contains 3 red balls and 5 black balls. A ball is drawn
at random from the bag. What is the probability that the ball
drawn is (a) red and (b) not red? 2

9 (TS 361 e SIF SO '3 qeq T8 W% | @FINAE Rl <5 T
WWQ’HIWW(ﬂ)?maw@aﬁwmﬁma@aﬂmﬁ
eIl M 2 '

3 Y 3fb =@ @) 5 T e w7 w1 Bl @@ < @
IORFSICA BT1 Ze=l | Bl @ (@) 7Tt qo 2ew =% (b) @01 T 7 2SR
TR FS 2 .

T SerTETE J 3 M A9 AR BF 5 e g6 g9 | SereE ane’d

A T TG | (@) ST TR SR SRy () T T SR e

=7 '

T I 3 @i 3R 5 el W F) osw A & ¥ e ageen Fiwwed
| SRt S| TR SRRt T & 1% 9 (o) e & o () @ @ A

3

SECTION—C / S—>IRl / SR / T—aTgrit / T—am

22. Prove that_\/ 2 is irrational. 3
21 91 (V2 oA |
o1 FCA @ V2 oA |
BIAH G & V2 e e
o i & V2w o wea B

23. Divide the polynomial p(x) by the polynomial g(x), and find

the quotient and the remainder : 3

P(x) IPACBTE g(x) ILATBIA 239 1, S 51t S SR efg 4

PI(x) TR q(x) T2 I SIo1 G, R IorE @ SO e e «
B19-GM/21B ' + [ Contd.
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plx) T Tt g(x) e METS T S T ) Tt R
Tgue p(x) 1 g(x) ¥ wﬁmaﬂiwwmm‘cﬁﬁm

' 2
p(x)=x3 -8x* +5x -8, q(x) =X -2

24. If we add 1 to the numerator and subtract 1 from the
denominator, a fraction reduces to 1. It becomes 1 1f we only
add 1 to the denominator. What is the fraction? 3
o S T 1 el I T T o 1 Rt Fl, Gl s 2wl 1.
i T e e 1 Qe R, (orE 7 T 5. SARD! R 2
I owa @ 1 e R GR -9 (AT 1 ﬁmﬂﬁ,m’ﬁf‘w‘ﬂiﬂ 11
R i oy zACS 1 @1 I, Srge s W 5 1 e 2
gﬁ'sﬁmmsﬁ 1 @ TEE SR TSR 1 SEE A, rhqﬁah@a@‘ﬁ?laﬂ
1 mﬁmtaﬁgﬁwﬁa 1@@@%%&[3@ 21 9 dvE
BT w? ¢
afs a9 I 16?@%3911311‘1% 1?427% @ fim 1 3§ wea o ) AR W
FEa WA 1S, A ww L AW # | e Fnw?

25. Solve /S 1/ HI4R I /AEGE Rg/ge hifvre - | 3

V2x? +7x+5V2=0

26. The difference of squares of two natural numbers is 180.
The square of the smaller number is 8 times the larger number.
Find the two numbers. ? 3
o1 g A 3 R 180. 7 FHRAHR 39 TSIWR 8 @ 7,
ﬁ\ﬂﬂ@ﬁ‘fﬂ?ﬁ |
ofo eI i A Ko 180. (=B B4 aﬁwﬁa 8 @9 7,
a1 b ey et |
A SRR SR FR 180, gt mf e wRm i
8 W MR | IR AFE gl
<) wFRie demell & 9 H AW 180 ¥ B Wea F T w4 w1 H 8
1 B 1 3 S, i i | 2

B19-GM/21B [ Contd.
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27. In what ratio does the point (-4, 6) divide the line segment

joining the points A(-6,10) and B (3, - 8) internally? 3
A(~6,10) SF B (3, - 8) R WA @ires (-4, 6) R & wrgeies
TEOS (I ?

A(-6,10) &R B (3, -8) RY IR cuews (-4,6) Fg F wwpems
EReE A ?

A(=6, 10) 3T B (3, - 8) sl A Ty g @ (-4, 6) feren M
TFYTEATE THI?

frg (-4, 6), Frgetl A(-6,10) 3 B (3, — 8) 1 S T [WIEE i AT
w9 9 frg arguma o fnfa R 27

28. Find the sum of the first 22 terms of an AP whose common
difference is 7 and the 22nd term is 149. 3

5l FEI ﬁsrf‘?mmqw 7@{@?22’*‘1 (Bl 149 27 TR 24w 220
o (aIsrEe fefm 341 | :

G5 SAEA 25eq U S@e 7 «<R 2299 Ao 149 A @ AW 2216
AT e e T |

i i R s R 7 T 20f FeE 149 ST
Iy firfy 22 formaft aemEmd e

39 gU=R A & guH 22q€raﬂu‘mlmﬁﬁqﬁwaﬁm7%aﬁt
2231113149%1

29. In an equilateral triangle, prbire that three times the square
of one side is equal to four times the square of one of its

altitudes. 3
o 1 (3 1 TR g Bl T 3o Feffigt TR o Tafet i
BIR STHH | :
mqmmmwﬁgmmmamﬁﬂmm@ﬁw
0o IRGTR S |

B19-GM/21B [ Contd.
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A T R AR iR S sparfaemt G A i
amEERT Y AR shorsfy Tt SR gaE ST

freht wag Fr 1, g SR 6 Suy T gen & @ F R I O
Yidea % =i & =R [ F T B

30. Find the value of K if the points (8 1), (K, —4) (2, —5) are
‘collinear. 3

8, 1), (K, -4), (2, —5) Ry R qoraam 2o K3 T el 1 |
8,1), (K, —4), (2, —5) Ry foafs «ecadin za1 K- T fefiy e |
8 1), (K, —4), (2, —5) o A & et smveen K 7 A7 g7

K 1 9 T4 #ite afe fogd (8, 1), (K, - 4), (2, —S)ﬁ%l :

31. From each corner of a squé}c of side 4 cm, a quadrant of
a circle of radius 1 cm is cut and also a circle of diameter 2 cm
is cut as shown in the figure below. Find the area of the

remaining portion of the square (Take 7 = 7) :

o Ba® (7{S9 T 4 cm A bl v AfeCh pFI o[ 1 cm
TP 51 I BT (BRF P RN (=R, F 2 cm IPE <1 7e8 D

m@raﬁwﬁﬁmﬁﬁwmﬁwﬁﬁﬁaﬂﬁ(n=%§§ﬁqﬁﬁ):

Sievq fc@ AT A 4 cm A G PeFEd e @ 1 em
P s qeed @b (N 6 (TSN MR 9R 2 cm JOW
G Je8 (B @SN TR Jfrwaiy FWHE WO I [l

(n=%ﬁtﬁﬁ'@):

Wﬁwmﬁﬁﬁmmﬁ4.cmmrfﬁrﬁmaﬁaﬁmﬁ@’m-
HAsA%E 1 o @EER TR e 9ERd §E AR 9EE A 2 cm
@ﬁﬁﬁqﬂﬁmw’mmm!mﬁmwwﬁﬁamﬁxﬁy

(n=%—aq:ﬁaq):

B19-GM/21B [ Contd.
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32. Solvc the pair of ec'luati'oilﬁs by

33.

( 15 )

4 cm ¥ 91 Th T % WD BH Y 1 cm B A 9w w1 ww-agat
1T T R A = H 2 cm AW F O g off wrer mn g S G A= et

ﬁmﬁmw%laﬁmqmmmmwm%?ﬂm:

SECTION—D / ¥—*I\l / ¥—iqi / g—argrit /[ 9—wmT

fe\zluciﬁg them to a pair of linear
4

equations :

Wﬂﬁwwhﬁ@ﬁwﬁﬁmﬁm%ﬁwmﬁ:

TS TN CST9! R TAFACT TG FCA T FCA -

MR T S T ﬁ@mmﬁ’mmqﬁ@mﬁ@;
e e g ) Y TR 3 g i e e A

1
2

=2

+

|on

—_—

®
-
<

B
Il
=

\lm

x.—

—
- (S
|
N

with AB||DC. E and F are points on

3 ezium i
ABCD is a trap tively such that EF is.

non-parallel sides AD and BC respec
parallel to AB. Show that
AE _BF 4

ED FC
[ Contd.

B19-GM/21B
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ABCD GPREMR AB ||DC . TR P IR AD S1F BC 3 879 @i
E W F %5 R G=wq @Ik 24 qe EF SF AB I | (e @
AE _BF .

ED FC’ _

ABCD GPRAIGR AB||DC. & a1 AD @@ BC-a9 T

mEma\FﬁﬁﬁwmmeEF 3R AB TR |

AE _BF
e @ ==,
" ED FC

ABCD fufsamft AB||DC. afy fmfe amgrﬁaAD il BC T @@=

Y E 3 FAmy B @aR wrm srem srerd EF SR AB fem S|
REaR A2 _BF
ED FC

ABCD U% Wiwid ¢ fm@il AB||DC %1 sramiqt ysnsit AD 3R BC W

FR: ﬁaEaﬂtham@m%ﬁﬁ EFgmAB%Fw%lem%
AE _BF 5 ;\

ED FC

34. A 1'5 m tall boy is standing at some distance from a 30 m tall
building. The angle of elevation from his eyes to the top of the
building increases from 30° to 60° as he walks towards the
building. Find the distance he walked towards the building. 4

1'5 m @3 '3 & 30 m 8y WHFPR @ g Eee fm 2 W |
(o6 SHRRFIER T (1S TP 3]sl ool (969 54 °41 SORRIGR TRt
T (@19 3073 *[1 60° &1 AT | (96 THFFFRON FICA (I 0l 7 foef
sl

15 m 7791 GF == 30 m THeR ST (W o 770y W =g |
¢l SERRIbE fice RO TR Sk e OF (B (A0F eIerafba Acy
B @19 30° (T 60°CT (T I | OF SO e &G e w7y
fefa a1

1-5 m T 9@ gEEE 30 m e T EeERwrE W@ TeEE EEE )
il It R AeRRm S ' BEER v aemeEEE 300
i 60° fm srram | Tl ffesh wra g @ seEE g

B19-GM/21B [ Contd.
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1'5 m W& TF TSH 30 m I wF agm @
fﬁw@ﬁﬂ%%ﬁﬁ%ﬁw?ﬁﬁgfﬁiﬁ:ﬂaﬁ
# 60° S &1 ey T 7T T Y o Rt 9 7 e 2

35. Prove that the tangents drawn at the ends of a diameter of
a circle are parallel. 4

2 T (T O AP IS G =1 STaypapey |

219 AT (7 IS T T Bl ™% STaret |

FAA oW & dEaf @E gEe S wsme Sew Aitee srerer R
ST |

éﬁzﬁﬁqﬁsmgﬂ%%ﬁm%ﬁﬁm@%ﬁnﬁmﬁ-wm
gl |

36. Construct a triangle of s.,\i;les'—h-‘-pm, 5 cm and 6 cm, and then
a triangle similar to it whose sia;_i;:s are % of the corresponding

sides of the first triangle. (Writcﬁthe steps of construction.) 4
4 cm, 5 cm WF 6 cm JEI B ATH WFA T UF ©F Pize TR

TP (AT b1 fIps S 41 IR IREAR 4 TqgecbE el A
%mﬂl(wwmﬁwﬁﬁa‘m

4 cm, 5 cm «R 6 cm I G [qPS THA A GR ORR GF TP

a3l firgs s e T ARER oum fageia s TREFE 2 81 TR |
(Sreee “efe foea 1)

4 cm, 5 cm 3 6 cm AWIRAN A arERgm fe AW 4FH =
Ted A 9RE A swafem Ry sl smafasr A et
qﬁ@iﬁw@rﬁtﬁ%mml (e s forl)

4 cm, 5 cm 3R 6 cm gmﬁﬂfﬁ@ﬁgﬁrﬁm?ﬁmmﬁim
ey T I B it T A, Re yend R ge e 1 E e
A 2 2 (S o fafee) _

B19-GM/21B [ Contd.
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SECTION—E / &4l / et / T—=rgr [ ¥—

37. A toy is in the form of a cone of radius 3-S5 cm mounted on

a hemisphere of same radius. The total height of theztzzoy is
155 cm. Find the total surface area of the toy. (Take T = —77') S

B (T < TS < ST o 35 cm TS <1 g
ﬁfﬁ—lﬁnﬁaqbﬁmi’a 155 cm. ﬁﬁﬁ@ﬂéﬁﬂ%ﬁﬂﬁl

(n-——ﬂﬁl’#ﬁ?ﬂ
.mmaﬁm#{@aﬁw‘cw@m 3.5 cm PIHIE G0
ﬁ@ﬁmﬂfﬁ—imﬂﬂﬁﬁﬂﬁ%ﬁmw 15'5 cm. (YFHIGA A5 “JoeIfer
ﬁﬁwwn——?ﬁw)

A G T W@ AT A e e 345 cm g'@E T AFE
STRrgST AR | e T S S 15-5 cm. $uen T fag

wﬁ:@?ﬁgm (n-maqqﬁsn)'

& flaetn s 3-5 cmﬁ]@?@?@"ﬁimﬂ% i St e A
iR W ereERitE §) 5@ Rae i agl $9E 155 om B @ Raein

ol gdt Set T S| (n—@r—ﬁm)

or /aﬁai/-m@f/ gar / 3Tt

‘Metallic spheres of radii 6 cm, 8 cm and 10 cm respectively
- are melted to form a single solid sphere. Find the radius of the
resulting spherc Also find thc surface area of the new sphere.

(Take 7 = —]

6 cm, 8 cm 9F 10 CmWfﬁﬁWCWWQﬁWCW
hﬁwz’mwcmﬁﬁmdﬁﬁwuﬁﬂrmcm

Wﬁrﬁ#ﬂ@1(n=—jﬁqﬁa{

B19-GM/21B | Contd.
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6 cm, 8 cm YR 10 cm IPHR R ar9a iE iy «af o
cwmwmlmcﬂmﬁamﬁﬁ#ﬂwumﬁcsm

Wﬁ‘fﬂml(n-—ﬁﬁﬂﬂm)

6 cm, 8 cm W 10 cmﬁmﬁmq@ﬁgﬂzﬂﬁ%ﬁ?ﬁﬂﬁ
mwmwwmlmwﬁgmﬁ@mm@ﬁ
forg weemsty g1 (n = : ‘a‘hﬂﬁﬁm

A 6 cm, 8 cm aﬁ”{_‘lo cm Prewedi @ uig % dW S et
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The marks distribution of 30 students in a mathematics

‘examination are given below. Find the mode of this data : . 3
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